(1) BEHE

(BAr )

B E R RIS Lt e MAEE | g | e
THBA (A) 597,295,000 545,876,000f 51,419,000 9.4 %
R NAER (B) 597,190,083 546,197,743| 50,992,340 9.3 %
B HHRAE (C) 595,098,414 544,213,564| 50,884,850 9.4 %
MmARHZESIER (B) — (©) (D) 2,091,669 1,984,179 107,490 5.4 %
E@Jﬁbcﬁfﬁs DT SEMIE  (E) 0 0 0 0.0 %
EEINK (D) — (E) (F) 2,091,669 1,984,179 107,490 5.4 %
R4 BRI (G) 1,984,179 3,204,159 A 1,219,980 A 38.1 %]
BEEINE (F) — (@) (H) 107,490 A 1,219,980 1,327,470
FESIA (1) 0 0 0 0.0 %
i LERE (1) 0 0 0 0.0 %
FESI B LER (K) 0 0 0 0.0 %
%ﬁ%ﬁﬁﬁ”ﬁ%{) (L) 107,490 A 1,219,080 1,327,470
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